

Available online at http://scik.org Adv. Fixed Point Theory, 2024, 14:30 https://doi.org/10.28919/afpt/8621 ISSN: 1927-6303

A NEW FIXED POINT THEOREM IN CONE B-METRIC SPACES

LEENA RAWATE¹, RENUKA SAHU², RAKESH TIWARI^{1,*}, ARUN KUMAR MISHRA³

¹Department of Mathematics, Govt. V.Y.T. PG Autonomous College, Durg (C.G.), 491001, India ²Department of Mathematics, Kalinga University, New Raipur (C.G.), 492010, India ³Department of Mathematics, Govt. Danveer Tularam PG College Utai, Durg (C.G.), 491001, India

Copyright © 2024 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. The aim of this paper is to prove common fixed point theorem for quadruple mappings in cone b-metric spaces. Our result extends and improves some fixed point results in cone b-metric spaces. We illustrate our main result by an example.

Keywords: fixed point; cone metric; cone b-metric; contractive mapping; partial ordering.

2020 AMS Subject Classification: 47H10, 54H25.

1. INTRODUCTION

The concept of b-metric space was introducd by Bakhtin [2]. He proved the principal of contraction mapping in b- metric spaces. Huang and Zhang [6] introduced the concept of cone metric space as a generalisation of metric space. In addition, certain fixed point theorems have been demonstrated for contractive mapping which extended the results of fixed point in metric spaces. Hussain and Shah [7] introduced the cone b-metric spaces as a generalization of b-metric spaces for KKM mappings. Sharma [9] used rational expression to prove fixed point

^{*}Corresponding author

E-mail address: rakeshtiwari66@gmail.com

Received April 28, 2024

theorem for contractive mapping without the assumption of normality in cone b-metric spaces. Similar work has been done in [1,3,4,5].

2. PRELIMINARIES

We use the following definitions for our main result:

Let *E* be a real Banach space and *P* be a subset of *E*. We denote the zero element of *E* by θ and the interior of *P* by *intP*. The subset *P* is called a cone iff :

- (1) *P* is closed, nonempty, and $P \neq \theta$
- (2) $a, b \in \mathbb{R}, a, b \ge 0, x, y \in P$ implies $ax + by \in P$
- (3) $P \cap (-P) = \theta$.

Definition 2.1. [9] *Let* X *be a nonempty set. Suppose that the mapping* $d : X \times X \rightarrow E$ *satisfies:*

- (1) $\theta \leq d(x,y)$ for all $x, y \in X$ with $x \neq y$ and $d(x,y) = \theta$ iff x = y;
- (2) d(x,y) = d(y,x) for all $x, y \in X$;
- (3) $d(x,y) \le d(x,z) + d(z,y)$ for all $x, y, z \in X$.

Then d is called a cone metric on X and (X,d) is called a cone metric space.

Definition 2.2. [9] Let X be a nonempty set and $s \ge l$ be a given real number. A mapping $d: X \times X \rightarrow E$ is said to be cone b-metric iff, for all $x, y, z \in X$, the following conditions are satisfied:

- (1) $\theta \leq d(x, y)$ with $x \neq y$ and $d(x, y) = \theta$ if f x = y;
- (2) d(x,y) = d(y,x);
- (3) $d(x,y) \le s[d(x,z) + d(z,y)].$

Then pair (X,d) is called a cone b-metric spaces.

Definition 2.3. [9] Let (X,d) be a cone b-metric space, $x \in X$ and x_n be a sequence in X. Then

- (1) x_n converges to x whenever, for every $c \in E$ with $\theta < c$, there is a natural number \mathbb{N} such that $d(x_n, x) < c$ for all $n \ge \mathbb{N}$. We denote this by $x_n \to x$ as $(n \to \infty)$.
- (2) $\{x_n\}$ is a Cauchy sequence whenever, for every $c \in E$ with $\theta < c$, there is a natural number \mathbb{N} such that $d(x_n, x_m) < c$ for all $n, m \geq \mathbb{N}$.
- (3) (X,d) is a complete cone b-metric space if every Cauchy sequence in X is convergent.

Definition 2.4. [8] Let X be a nonempty set and $k \ge 1$ a given real number. A function d: $X \times X \to \mathbb{R}^+$ is a b-metric iff for each $x, y, z \in X$, following conditions are satisfied:

- (1) d(x,y) = 0 iff x = y,
- (2) d(x,y) = d(y,x),
- (3) $d(x,z) \le k[d(x,y) + d(y,z)].$

Then the pair (X,d) is called a b-metric space. It should be noted that the class of b-metric spaces is effectively larger than that of metric spaces. Indeed, a b-metric is a metric iff k = 1.

Definition 2.5. [8] Let (X,d) be a b-metric space. Then a sequence $\{x_n\}$ in X is called: (a) convergent if and only if there exists $x \in X$ such that $d(x_n, x) \to 0$, as $n \to \infty$. In this case, we write $\lim_{n\to\infty} x_n = x$.

(b) Cauchy iff $d(x_n, x_m) \to 0$, as $n, m \to \infty$, where $n, m \ge N \in \mathbb{N}$.

Lemma 2.1. [8] Let (X, d) be a b-metric space with $k \ge 1$. Suppose that x_n and y_n are b-convergent to x and y, respectively. Then, we have $\frac{1}{k^2}d(x,y) \le \lim_{n\to\infty} \inf d(x_n,y_n) \le \lim_{n\to\infty} \sup d(x_n,y_n) \le k^2 d(x,y)$.

In particular, if x = y, then we have $\lim_{n\to\infty} d(x_n, y_n) = 0$. Moreover for each $z \in X$ we have $\frac{1}{k}d(x,z) \le \lim_{n\to\infty} \inf d(x_n,z) \le \lim_{n\to\infty} \sup d(x_n,z) \le kd(x,z)$.

Lemma 2.2. [8] Let (X, d) be a b-metric space. If there exist two sequences $\{x_n\}$ and $\{y_n\}$ such that $\lim_{n\to\infty} d(x_n, y_n) = 0$, whenever $\{x_n\}$ is a sequence in X such that $\lim_{n\to\infty} x_n = t$ for some $t \in X$ then $\lim_{n\to\infty} y_n = t$.

In this section, we present common fixed point theorem for contractive mapping in the setting of cone b-metric spaces:

3. MAIN RESULTS

Theorem 3.1. Let (X,d) be a complete cone b-metric space with the coefficient $k \ge 1$. Suppose the mappings $A, B, S, T : X \to X$ satisfy the following conditions:

- (1) $AX \subseteq TX$, $BX \subseteq SX$;
- (2) The pair (A,T) and (B,S) are compatible;
- (3) *S* and *T* are continuous; for all $x, y \in X$, $k \ge l$.

(4)
$$d(Ax, By) \leq \frac{q}{k^4} \max\{d(Sx, Ty), \frac{d(Ax, Sx) + d(By, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2}\}$$

Then S, T, A and B have a unique common fixed point in X.

Proof. Since (X,d) is a complete cone b-metric space with the coefficient $k \ge 1$, Suppose mapping $A, B, S, T : X \to X$ satisfy all above four conditions.

(3.1)
$$d(Ax, By) \le \frac{q}{k^4} max \{ d(Sx, Ty), \frac{d(Ax, Sx) + d(By, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2} \}.$$

Since $AX \subseteq TX$ implies $Ax_0 = Tx_1 = y_1$ (say), $BX \subseteq SX$ implies $Bx_1 = Sx_2 = y_2$ (say) $Ax_{2n} = Tx_{2n+1} = y_{2n+1}$ and $Bx_{2n+1} = Sx_{2n+2} = y_{2n+2}$ for n = 0, 1, 2, ...putting $x = x_{2n}$, $y = y_{2n+1}$ and let $\frac{q}{k^4} = \beta$ (say)

Case 1: If $\max\{d(y_{2n}, y_{2n+1}), \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}, \frac{d(y_{2n}, y_{2n+2})}{2}\} = d(y_{2n}, y_{2n+1}),$ then

(3.2)
$$d(y_{2n+1}, y_{2n+2}) \le \beta d(y_{2n}, y_{2n+1}).$$

Case 2: If $\max\{d(y_{2n}, y_{2n+1}), \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}, \frac{d(y_{2n}, y_{2n+2})}{2}\} = \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}$, then

$$d(y_{2n+1}, y_{2n+2}) \le \beta \{ \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2} \}$$

(3.3)

$$or \ d(y_{2n+1}, y_{2n+2}) \left[1 - \frac{\beta}{2} \right] \leq \frac{\beta}{2} d(y_{2n}, y_{2n+1})$$

$$or \ d(y_{2n+1}, y_{2n+2}) \leq \frac{\frac{\beta}{2}}{[1 - \frac{\beta}{2}]} d(y_{2n}, y_{2n+1})$$

$$\leq k \{ d(y_{2n}, y_{2n+1}) \}, \ where \ k = \frac{\frac{\beta}{2}}{1 - \frac{\beta}{2}}.$$

Case 3: If $\max\{d(y_{2n}, y_{2n+1}), \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}, \frac{d(y_{2n}, y_{2n+2})}{2}\} = \frac{d(y_{2n}, y_{2n+2})}{2}$ then

$$d(y_{2n+1}, y_{2n+2}) \leq \frac{\beta}{2} d(y_{2n}, y_{2n+2})$$

$$\leq \frac{\beta}{2} \{ d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2}) \}$$

$$or \ d(y_{2n+1}, y_{2n+2}) \left[1 - \frac{\beta}{2} \right] \leq \frac{\beta}{2} d(y_{2n}, y_{2n+1})$$

$$or \ d(y_{2n+1}, y_{2n+2}) \leq \frac{\frac{\beta}{2}}{[1 - \frac{\beta}{2}]} d(y_{2n}, y_{2n+1})$$

$$\leq k \{ d(y_{2n}, y_{2n+1}) \}, \text{ where } k = \frac{\frac{\beta}{2}}{1 - \frac{\beta}{2}}.$$

$$(3.4)$$

Using equation (3.2), (3.3) and (3.4), we get $d(y_{2n+1}, y_{2n+2}) \le kd(y_{2n}, y_{2n+1})$ Since $AX \subseteq TX$ implies that $Ax_0 = Tx_1 = y_1$ (say) $BX \subseteq SX$ implies that $Bx_1 = Sx_2 = y_2$ (say). $Ax_{2n} = Tx_{2n+1} = y_{2n+1} Bx_{2n+1} = Sx_{2n+2} = y_{2n+2}$ putting $x = x_{2n+2}, y = x_{2n+1}$

$$d(Ax_{2n+2}, Bx_{2n+1}) \leq \beta \max\{d(Sx_{2n+2}, Tx_{2n+1}), \\ \frac{d(Ax_{2n+2}, Sx_{2n+2}) + d(Bx_{2n+1}, Tx_{2n+1})}{2}, \\ \frac{d(Sx_{2n+2}, Bx_{2n+1}) + d(Ax_{2n+2}, Tx_{2n+1})}{2} \}$$

or $d(y_{2n+3}, y_{2n+2}) \leq \beta \max\{d(y_{2n+2}, y_{2n+1}), \\ \frac{d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})}{2}, \\ \frac{d(y_{2n+2}, y_{2n+2}) + d(y_{2n+3}, y_{2n+1})}{2} \}$
 $\leq \beta \max\{d(y_{2n+2}, y_{2n+1}),$

$$\frac{d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})}{2},$$
$$\frac{d(y_{2n+3}, y_{2n+1})}{2}\}.$$

Case1: If $max\{d(y_{2n+2}, y_{2n+1}), \frac{d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})}{2}, \frac{d(y_{2n+1}, y_{2n+3})}{2}\} = d(y_{2n+2}, y_{2n+1}),$ then

(3.5)
$$d(y_{2n+2}, y_{2n+3}) \le \beta \{ d(y_{2n+1}, y_{2n+2}) \}.$$

Case2: If $max\{d(y_{2n}, y_{2n+1}), \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}, \frac{d(y_{2n}, y_{2n+2})}{2}\} = \frac{d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, y_{2n+2})}{2}$, then

$$d(y_{2n+2}, y_{2n+3}) \leq \beta \{ \frac{d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})}{2} \}$$

or $d(y_{2n+2}, y_{2n+3}) \left[1 - \frac{\beta}{2} \right] \leq \frac{\beta}{2} d(y_{2n+1}, y_{2n+2})$
or $d(y_{2n+2}, y_{2n+3}) \leq \frac{\frac{\beta}{2}}{[1 - \frac{\beta}{2}]} d(y_{2n+1}, y_{2n+2})$
(3.6) $\leq k \{ d(y_{2n+1}, y_{2n+2}) \}, \text{ where } k = \frac{\frac{\beta}{2}}{1 - \frac{\beta}{2}}.$

Case3: If $max\{d(y_{2n+2}, y_{2n+1}), \frac{d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})}{2}, \frac{d(y_{2n+1}, y_{2n+3})}{2}\} = d(y_{2n+1}, y_{2n+3}),$ then

$$d(y_{2n+2}, y_{2n+3}) \leq \frac{\beta}{2} \left[d(y_{2n+1}, y_{2n+2}) + d(y_{2n+2}, y_{2n+3}) \right]$$

or $d(y_{2n+2}, y_{2n+3}) \left[1 - \frac{\beta}{2} \right] \leq \frac{\beta}{2} d(y_{2n+1}, y_{2n+2})$
or $d(y_{2n+2}, y_{2n+3}) \leq \frac{\frac{\beta}{2}}{\left[1 - \frac{\beta}{2} \right]} d(y_{2n+1}, y_{2n+2})$
(3.7)
$$\leq k \{ d(y_{2n+1}, y_{2n+2}) \}, \text{ where } k = \frac{\frac{\beta}{2}}{1 - \frac{\beta}{2}}.$$

Using equation (3.5), (3.6) and (3.7), we get

 $d(y_{2n+2}, y_{2n+3}) \le kd(y_{2n+1}, y_{2n+2})$. Hence $\{y_n\}$ is Cauchy sequence.

Since X is complete cone b-metric space, so there exists some y in X, such that,

(3.8)
$$\lim_{n \to \infty} Ax_{2n} = \lim_{n \to \infty} Tx_{2n+1} = \lim_{n \to \infty} Bx_{2n+1} = \lim_{n \to \infty} Sx_{2n+2} = y \ (say).$$

We will show that *y* is a common fixed point in A, T, B and S.

Since S is continuous. Therefore

(3.9)
$$\lim_{n\to\infty} S^2 x_{2n+2} = Sy \text{ and } \lim_{n\to\infty} SAx_{2n} = Sy.$$

Since pair (A, S) is compatible. Therefore $\lim_{n\to\infty} d(ASx_{2n}, SAx_{2n}) = 0$. So, $\lim_{n\to\infty} ASx_{2n} = \lim_{n\to\infty} SAx_{2n}$ and $\lim_{n\to\infty} ASx_{2n} = Sy$. Now, put $Sx_{2n} = x$ and $x_{2n+1} = y$ in the inequality (3.1), we have

(3.10)
$$d(ASx_{2n}, Bx_{2n+1}) \leq \beta \{ max \{ d(S^{2}x_{2n}, Tx_{2n+1}), \\ \frac{d(ASx_{2n}, S^{2}x_{2n}) + d(Bx_{2n+1}, Tx_{2n+1})}{2}, \\ \frac{[d(S^{2}x_{2n}, Bx_{2n+1}) + d(ASx_{2n}, Tx_{2n+1})]}{2} \}$$

Taking upper limit $\lim_{n\to\infty}$, by Lemma 2.6

$$(3.11) \qquad \frac{d(Sy,y)}{k^{2}} \leq \frac{q}{k^{2}} \{ \max \lim_{n \to \infty} \sup \{ d(S^{2}x_{2n}, Tx_{2n+1}), \\ \frac{lim_{n \to \infty} \sup d(ASx_{2n}, S^{2}x_{2n}) + lim_{n \to \infty} \sup d(Bx_{2n+1}, Tx_{2n+1})}{2}, \\ \frac{lim_{n \to \infty} \sup d(ASx_{2n}, S^{2}x_{2n}) + lim_{n \to \infty} \sup d(Bx_{2n+1}, Tx_{2n+1})}{2} \\ \leq \frac{q}{k^{4}} \{ \max\{k^{2}d(Sy, y), 0, \frac{k^{2}}{2}[d(Sy, y) + d(Sy, y)] \}, \text{ which implies} \}$$

 $d(Sy,y) \le \frac{q}{k^2} \{ d(Sy,y) \} < d(sy,y), \text{ a contradiction. Therefore } Sy = y, \text{ because } 0 < q < 1.$ Similarly, Ay = y and finally Sy = Ty = Ay = By = y. So, A, B, S and T have common fixed point.

Uniqueness of fixed point:

Let A, B, S and T have another fixed point *x*(say). So,

$$\begin{split} d(x,y) &= d(Ax,By) \\ &\leq \frac{q}{k^4} max\{d(Sx,Ty), \frac{d(Ax,Sx) + d(By,Ty)}{2}, \\ &\quad \frac{d(Sx,By) + d(Ax,Ty)}{2}\} \\ &\leq \frac{q}{k^4} max\{d(x,y), \frac{d(x,x) + d(y,y)}{2}, \frac{d(x,y) + d(x,y)}{2}\} \\ &\leq \frac{q}{k^4} max\{d(x,y)\} \end{split}$$

x = y because 0 < q < 1. Fixed point is unique. This completes the proof.

We illustrate our theorem by the following example.

Example: Let $E = \mathbb{R}^2$, $p = \{(x, y) \in E : (x, y) \ge 0\} \subset E$. X =[0,1] and $d : X \times X \to E$, such that $d(x, y) = (\alpha |x - y|^2, |x - y|^2)$, where $\alpha \ge 0$ Then (X, d) is a cone b-metric space. Now define A, B, S, T : X $\times X \to Y$ such that, $A(x) = (\frac{x}{4})^{12}$, $B(x) = (\frac{x}{4})^8$, $S(x) = (\frac{x}{4})^8$, $T(x) = (\frac{x}{4})^4$

here (i) $AX \subseteq TX$, $BX \subseteq SX$;

(ii) The pair (A, T) and (B, S) are compatible;

(iii) *S* and *T* are continuous;

$$(iv)d(Ax, By) = (\alpha |Ax - By|^{2}, |Ax - By|^{2})$$

$$= (\alpha |(\frac{x}{4})^{12} - (\frac{x}{4})^{8}|^{2}, |(\frac{x}{4})^{12} - (\frac{x}{4})^{8}|^{2})$$

$$= (\alpha |(\frac{x}{4})^{4} \{(\frac{x}{4})^{8} - (\frac{x}{4})^{4}\}|^{2}, |(\frac{x}{4})^{4} \{(\frac{x}{4})^{8} - (\frac{x}{4})^{4}\}|^{2})$$

$$= (\frac{x}{4})^{8} (\alpha |(\frac{x}{4})^{8} - (\frac{x}{4})^{4}|^{2}, |(\frac{x}{4})^{8} - (\frac{x}{4})^{4}|^{2})$$

$$= |(\frac{x}{4})^{8} |d(Sx, Ty)$$

$$\leq (\frac{1}{4})^{8} max \{d(Sx, Ty), \frac{d(Ax, Sx) + d(By, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2}\}$$

$$\leq \frac{(\frac{1}{4})^{4}}{4^{4}} max \{d(Sx, Ty), \frac{d(Ax, Sx) + d(By, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2}\}$$

$$\frac{d(Sx, By) + d(Ax, Ty)}{2} \}$$

$$\leq (\frac{q}{k^4})max\{d(Sx, Ty), \frac{d(Ax, Sx) + d(By, Ty)}{2}, \frac{d(Sx, By) + d(Ax, Ty)}{2}\},$$

where $(\frac{1}{4})^4 \le q < 1$ for k = 4. We observe that x = 0 is the unique common fixed point of A, B, S, T. This validates Theorem 3.1.

CONFLICT OF INTERESTS

The authors declare that there is no conflict of interests.

REFERENCES

- S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, Fund. Math. 3 (1922), 133–181. https://doi.org/10.4064/fm-3-1-133-181.
- [2] I.A. Bakhtin, The contraction mapping principle in atmost metric spaces, Funct. Anal., Gos. Ped. Inst. Unianowsk. 30 (1989), 26–37.
- [3] M. Boriceanu, M. Bota, A. Petruşel, Multivalued fractals in b-metric spaces, Centr. Eur. J. Math. 8 (2010), 367–377. https://doi.org/10.2478/s11533-010-0009-4.
- [4] Monica Bota, Andrea Molnar and Csaba Varga, On Ekeland's variational principle in b-metric spaces, Fixed Point Theory, 12 (2011), 21–28.
- [5] S. Czerwik, Nonlinear set-valued contraction mappings in b-metric spaces, Atti Sem. Mat. Fis. Univ. Modena 46 (1998). 263–276. https://cir.nii.ac.jp/crid/1571980075066433280.
- [6] L.G. Huang, X. Zhang, Cone metric spaces and fixed point theorems of contractive mappings, J. Math. Anal. Appl. 332 (2007), 1468–1476. https://doi.org/10.1016/j.jmaa.2005.03.087.
- [7] S. Janković, Z. Kadelburg, S. Radenović, On cone metric spaces: A survey, Nonlinear Anal.: Theory Methods Appl. 74 (2011), 2591–2601. https://doi.org/10.1016/j.na.2010.12.014.
- [8] R. Roshan, N. Shobkolaei, S. Sedghi, et al. Common fixed point of four maps in b-metric spaces, Hacettepe J. Math. Stat. 43 (2014), 613–624.
- [9] N. Sharma, Fixed point theorem in cone b-metric spaces using contractive mappings, Glob. J. Pure Appl. Math. 13 (2017), 2997–3004.